


	[image: cbse_white_bg]
	http://www.cbseguess.com/




Guess Paper – 2010
Class – XII
Subject –Mathematics  

Time:3hrs                                  								                  Maximum Marks: 100
General Instructions:
(i) All questions are compulsory.
(ii) The question paper consists of 29 questions divided into three sections – A, B &  C Section A contains 10 questions of 1 marks each. Section B contains12 questions of 4 marks each. Section C contains 7 questions of 6 marks each.
(iii) Use of calculators is not permitted.

SECTION – A
Q.1	 Write the number of one-one functions from set A = {1,2,3} to itself.

Q.2	Write the condition on x so that    




Q.3	If  ││= 2, ││= 3 and  find 
Q.4	If A is a square matrix of order 3 such that  adj.(2A) = k adj.(A), then write the value of k.


Q.5	If A is a non singular square matrix such that A-1 = , then find 

Q.6	Find the maximum and minimum values, if any of  




Q.7	If , & ││= 22, find ││

Q.8	 If  , find value of k     
Q.9	Let A be a diagonal  A = (d1, d2,  ……, dn )  write the value of  | A |.

Q.10	Evaluate: 

Q.11	Consider the function  defined by f(x) = 9x2 + 6x -5, where R+ is the set of all non-negative real numbers. Show that f is invertible and find its inverse.
OR
Let A = {1,2,3,4} and a binary operation * on A is defined by a * b = ab (mod 5) for all a, b Є A. Set up the composition table for the operation * on A. Show that 1 is the identity element for the operation * and all the elements of the set A are invertible with 2-1 = 3 and 4-1 = 4. Here by ab (mod 5) we mean the reminder obtained after dividing ab by 5.


Q.12 	   If ,  prove that 


Q.13	  Prove by using properties of determinant  
	       OR

   Prove by using properties of determinant 



Q.14	   If  and , find 


Q.15	If       prove that    

Q.16	If A and B are two independent events, then the probability of occurrence of at least one of A and B is given by 

Q.17	Integrate 

Q.18	Find the points on the curve at which the tangent are parallel to (i) x-axis  (ii) y-axis		OR
	The volume of a cube is increasing at a rate of 9 cubic cm per second. How fast is the surface area increasing when the length of an edge is 10 cm?    

Q.19	Solve the differential equation:    
Q.20	Find the equation of plane which is mid parallel to planes 2x – 3y + 6z + 21 = 0 and  2x – 3y + 6z – 14 = 0

Q.21	If sum of two unit vectors is a unit vector, show that the magnitude of their difference is 
OR



         	Let OA = , OB = , and OC =  where O is origin. Let p denotes the area of the quadrilateral OABC
 and q denote the area of the parallelogram with OA and OC as adjacent sides. Prove that p = 6q.
Q.22	Form the differential equation of family of circles in the second quadrant and touching the coordinate axes. 





Q.23	If  , find A-1 and use it to solve the system of the equations :   
Q.24	A figure consists of a semi-circle with a rectangle on its diameter. Given  the perimeter of the figure, find its dimensions in order that the area may be maximum    
Q.25	Find image of the point (1,0,2) in the line passing through (2,1,3) and perpendicular to the lines and 					
                                           OR
	A line makes angles α, β, γ and δ with the diagonals of a cube, prove that cos2α + cos2β + cos2γ +cos2δ = 4/3


Q.26	Find the area of the region 	
                                                OR
Find the area of the region enclosed between the two circles x2 + y2 = 4 and (x – 2)2 + y2 = 1.

Q.27	Evaluate   
Q.28	An oil company has two depots A and B with capacities of 7000 L and 4000 L respectively. The company is to supply oil to three petrol pumps, D, E and F whose requirements are 4500L, 3000L and 35000L respectively. The distances (in Km) between the depots and the petrol pumps is given below 
	Distance in Km

	From / To
	A
	B

	D
E
F
	7
6
3
	3
4
2


	Assuming that the transportation cost of 10 litres of oil is Re 1 per Km, how should the delivery be scheduled in order that the transportation cost is minimum?
 Q.29	Assume that the chances of a patient having a heart attack is 40%. It is also assumed that a meditation and yoga course reduce the risk of heart attack by 30% and prescription of certain drugs reduces its chance by 25%. At  a time a patient can choose any one of two options with equal prob. It is given that after going through one of two options the patient selected at random suffers a heart attack. Find the prob. that the patient followed a course of meditation and yoga.
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